
Which type of clothes do 
they have the most?

1.

How many more T-shirts than 
jackets are there?

2.

How many sweaters and 
shorts are there alltogether?

3.
27 37 25

9 6 7

How many pairs of jeans will 
they have if they get 2 more 
pairs?

4.

12 13 15

2 4 6
How many fewer shorts than
T-shirts are there?

5.

shorts sweaters T-shirts

Clothes in the Wardrobe

Shorts Sweater  Pair 
of Jeans

Jacket T-shirt
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Clothes Math: 
Bar Graph Word Problems
Look at the picture and answer the questions about the family's clothes.


